
Diversity 

 

 

 

C. Match the columns: 

 

Column ‘A’ Column ‘B’ 

1. Reeta wears a skirt while Seema wears a saree (a) Economic inequality  

2. Mr Sharma  tolerates the smell of fish at Mr Ganguly’s house (b) Interdependence  

3. Raju rides a cycle, while John travels in a car (c) Cultural diversity  

4. Mita cooks for John and John teaches her children  (d) Secularism  

5. There is a national holiday for festivals of  religions in India (e) Tolerant of different  

 

 

 

Solutions 

 

 

 

C.  Match the columns: 

 

1. (c) 

 

2. (e) 

 

3. (a) 

 

4. (b) 

 

5. (d) 


